Warm Up

1. Identify the center and the radius of the following

circle: (x - 3)2 + (y + 8)2 =121 N
Cerper(>-5) F=1]
2. Solve the following by completing the square:

x>+14x-8=0 <)Qﬁf7>7:57
3. Simplify: (5 + 2i) - (4 + 8i)- /|- /, ”/ o
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4. Evaluate sin 120°

5. Identify the amplitude and the period of the
following: y = 4sin3x QMP:Q P AT

2
6. Simplify: sinx + cotx cosx

Player/ Coach

1. Solve the following by completing the square:
X2 +2x+7=0

2. Solve the following using the quadratic formula:

3x°+5x+5=0

3. Identify the number and type of solutions of the
following quadratic: y = 5x% + 12x + 20

4. Simplify: cotx secx

5. Simplify: tanx + cotx

ACT Question of the Day

31. To make a 750-piece jigsaw puzzle more challenging, a
puzzle company includes 5 extra pieces in the box
along with the 750 pieces, and those 5 extra pieces do
not fit anywhere in the puzzle. If you buy such a puzzle
box, break the seal on the box, and immediately select
I piece at random, what is the probability that it will
be 1 of the extra pieces?
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6. (1 - cosx)(1 + cosx)

7. ldentify the amplitude and period of the following:
y = 0.5sin8x

8. Identify the center and the radius of the following
circle: X2 + 4x +y> + 12x =9

9. For what value of b would the following be true?
(X + 5)(x -9) = x2 + bx - 45
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